)TyeT: MNeparory no npegmeTy
‘apumoBa Unbmupa PuHaToBHa, 2016/2017 y4eBHbIN roa, AHIIIMNCKUA A3bIK

o YcnesaemMocTb Coemnni | % ;/;q 8(5;;:
(nace rlepyon YRR o | xop | Ya | Heya :’ ocB |34 | H3 EEHKM 6ann | yones. |37 | (op)
1-51 yeTBepTL | 13 4 8 1 |0 0 (0 0 |0 |O 4,23 100,0 92,31 (72,9
2-a yeteepTb | 13 5 7 1 10 0|0 0 |0 |[O 4,31 100,0 | 92,31 | 75,6
r?'-a 3-a yetBepTh | 13 5 6 2 |0 0 1|0 0 [0 |O 4,23 100,0 |84,62|73,5
(Kapumosa)
4-a vyeTBepTb | 13 3 9 1 10 0|0 0 |0 |0 4,15 100,0 | 92,31 | 70,1
loa 13 5 7 1 (0 010 0 |0 |0 4,31 100,0 | 92,31 | 75,6!
1-7 yeTBepTLb | 14 7 7 0 |0 010 0 [0 |0 4.5 100,0 |100,0 | 82,01
2-51 yeTBepTh | 14 5 9 0 |0 010 0 |0 |O 4,36 100,0 | 1000 | 76,8
&gpm oa) |37 veaepre | 14 6 |8 |o|o |ofo |o |o |o 443 | 1000 |1000 |79.4:
4-5 yereepTb | 14 7 7 0 |0 0|0 0 |0 |0 4,5 100,0 [ 100,0 | 82,01
loa 14 7 7 0 |0 0 1|0 0 |0 |O 4,5 100,0 | 100,0 | 82,01
1-a yeTBepThL | 13 4 8 1 10 0|0 0 |0 (O 4,23 100,0 192,31 (72,9
2-5 yetBepTb | 13 3 7 3 (0 0|0 0O |0 [0 4.0 100,0 | 76,92 | 65,8!
Zizrapnmoaa) 3-s1 yetBepTh | 13 5 7 1 |0 0 (0 0 [0 |0 4,31 100,0 [92,31|75,6
4-7 yeTBeEpTh | 12 5 4 3 |0 0|0 0 (0 |0 417 100,0 [75,0 |[72,00
log 12 5 6 1 |0 010 0 |0 |O 4,33 100,0 | 91,67 | 76,6
1-51 yeTBepThb | 13 7 6 0 |0 010 0 |0 |O 4,54 100,0 | 100,0 | 83,3
2-51 yeTBepTh | 13 6 5 2 |0 0|0 0o [0 |O 4,31 100,0 (84,62 |76,3
?&Zpumoaa) 3-5 yeTBepTh | 13 3 9 1 0 0|0 0 (0 0 415 100,0 192,31 70,1
4-5 yeTBepTb | 13 3 9 1 |0 0|0 0 |0 |O 4,15 100,0 92,31 | 70,1
lon 13 7 6 0 |0 010 0 |0 |O 4,54 100,0 | 100,0 | 83,3
1-a yeTeepTs | 16 5 8 3 |0 0 1|0 0 |0 (O 4,13 100,0 | 81,25 70,00
. 2-a 4yeTBepTb | 16 6 6 4 |0 0|0 0 |0 |0 413 100,0 (75,0 [705
(Kapumosa | 3-a uetepTb | 16 6 8 2 |0 0|0 0 |0 |0 4,25 100,0 (87,5 |[74,0
) 4-a yetBepTb | 16 5 8 3 |0 0|0 0 |0 (O 4,13 100,0 |81,25 (70,0
lon 16 6 7 3 1|0 0|0 0 |0 |O 4,19 100,0 [81,25|722!
1-7 yerBepTb | 15 4 9 2 |0 0|0 0 |0 |0 4,13 100,0 |86,67 | 69,8
2-1 yeTBeEpTL | 15 4 8 3 |0 0|0 0 |0 |O 4,07 100,0 [ 80,0 |68,0
(8|‘E¢'rapMMOBa) 3-a yetBepTb | 15 3 9 3 10 010 0 [0 |O 4,0 100,0 | 80,0 |65,6
4-5 vyeTBepTh | 15 4 7 4 10 0|0 0 (0 |0 4,0 100,0 | 73,33 | 66,1
lon 15 4 9 2 |0 0|0 0 (0 |0 4,13 100,0 |86,67 | 69,8
1-5 yeTBepTL | 14 74 7 0 |0 0 |0 0 |0 |0 4.5 100,0 |100,0 | 82,01
2-7 veTBepTh | 15 9 5 1 |0 010 0 (0 |O 4,53 100,0 | 93,33 | 83,7
?l'-(gpmmoam) 3-7 veTBepTh | 15 5 |9 |10 010 0 |0 |0 4,27 100,0 |93,33 (74,1
4-a vyetBeptb | 15 8 6 110 010 0o |0 |0 4,47 100,0 | 93,33 | 81,3.
lon 15 9 5 110 010 0 |0 |0 4,53 100,0 | 93,33 | 83,7
9-6 1-51 yeTBepTb | 14 2 10 |2 |0 0|0 0 |0 |0 4,0 100,0 | 85,71 |65,1:
(Kapumosa2)
2-avetBeptb | 13 1 1 1 0 0|0 0 |0 0 4.0 100,0 | 92,31 | 64,6.
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